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Who were the main carriers of nationalism during colonial period ?
(1) lower class

(2) middle class
(3) urban middle class
(4) upper class

Options:

54025064921. 1
54025064922. 2
54025064923. 3

54025064924. 4

Question Number : 151 Question Id : 54025016231 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
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Comprehension MCQ
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Options :

54025064921. 1
54025064922. 2
54025064923. 3

54025064924. 4
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Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

MCQ

Identify the three villages that were initially brought together to establish the trading post on River

Hoogly by the English in 17% Century.
(1) Kolikata, Maidan, Fort William

(2) Kolikata, Sutanuti, Gobindapur

(3) Sutanuti, Gobindapur, Fort William
(4) Sutanuti, Kolikata, Fort William
Options :

54025064925. 1

54025064926. 2

54025064927. 3

54025064928. 4

Question Number : 152 Question Id : 54025016232 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
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Options:

54025064925. 1
54025064926. 2
54025064927. 3

54025064928. 4
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Comprehension MCQ

A falling dependency ratio can be the source of :

(A) prosperity

(B) economic growth

(C) cause of worry

(D) burden

Choose the correct answer from the options given below :
(1) (A) and (D) only

(2)  (B) and (C) only
(3) (A) and (B) only
(4) (C)and (
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54025064929. 1
54025064930. 2
54025064931. 3

54025064932. 4
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Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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Key Value
Comprehension MCQ

HZd g SR RI] % HId Bl §hd @ :
(A) wig

(B) TR i

(C) &S & &R

(D) ==

= feu 7t fosedi 1 9 W@ 9T &1 994 Hifou ;

(1) Fae (A) afﬂ (D)

(2) HaA (B) IR R(©)
(3) el (A) 3R (B)
(4) FFA (C) 3R (D)
Options :

54025064929. 1
54025064930. 2
54025064931. 3
54025064932. 4
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Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
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Key Value

Comprehension MCQ

What does population pyramid show ?
(1) Age, birth rate, growth

(2) Birth rate, gender, life expectancy
(3) Life expectancy, birth rate, age
(4) Age, gender, growth

Options :

54025064933. 1

54025064934. 2

54025064935. 3

54025064936. 4
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54025064933. 1
54025064934. 2
54025064935. 3

54025064936. 4
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High rates of infant mortality and maternal mortality is the result of which factors ?

(1) poverty and illiteracy

(2) poverty and development
(3) life expectancy and poverty
(4) literacy and development
Options :

54025064937. 1
54025064938 2
54025064939. 3

54025064940. 4
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Options:

54025064937. 1
54025064938. 2
54025064939. 3
54025064940. 4
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Comprehension MCQ

Among the population of India, the working - age people are relatively larger in number. What s
the reason for this ?

(1) Sex ratio
(2) Number of people in the infant group

(3) Demographic Dividend

(4)  Low number of people who are unemployed
Options :
54025064941, 1
54025064942, 2
54025064943 3
54025064944. 4
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Options :

54025064941. 1
54025064942. 2
54025064943. 3

54025064944. 4
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Match the example in List - I with concept in List - II.

List - 1 List - II
Example Concept
(A) Sale of kidney by poor to cater to rich patients (I} ~ Weekly market
(B) BPO (I)  Status symbol
(C) Use of Branded cars () Globalisation
(D) Dhorai (IV) Commodification

Choose the correct answer from the options given below :
1) (AHLV), B)-(), (©)-(L), D)

(2) (AL, B)-0), 1Y), (D))
(3)  (AHI), B)-1), (©)-(I), D)-IV)
(4) (AR, (B, (CHIV), (D))

Options :

54025064945. 1
54025064946. 2
54025064947. 3

54025064948. 4

Question Number : 157 Question Id : 54025016237 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
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(1) (AHIV), (B){I), (O)-(II), (D)-[)
(2) (A}, B)-(1), (C)-(1v), (D))
(3) (A}, B)-(), (C)-(I), (D)-(1V)
(4) (A, (B)-(D), (C}IV), (D)
Options:
54025064945. 1
54025064946. 2

54025064947. 3

54025064948. 4
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Arrange the statements in a way that reflect emergence of New markets and groups in India
during independence era.

(A)  After colonialisation, India became a source of raw material and consumer of manufactured
goods.

(B) During British rule in India new communities emerged to take advantage of the economic
opportunities,

(C) After independence, some Marwari families established themselves as modern industries
and even today they control more of India’s industry than any other communities.

(D) India was a major supplier of manufactured goods to the world market in pre-colonial era.

(E) Forinstance, Marwaris, a successful business community took advantage of new opportunities
in cities like Calcutta.

Choose the correct answer from the options given below :
(1) () (A 6) &) ©

(&) (&), () D) (), (£

) (B) () (C) () ()

4 (€ )6 0) 6

Options:

54025064949. 1

54025064950. 2

54025064951. 3

54025064952. 4

Question Number : 158 Question Id : 54025016238 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
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(D), (4), ). (), (C)
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4 (© (A) ) ), (£
Options:
54025064949. 1
54025064950. 2
54025064951. 3

54025064952. 4
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Common features of the caste-system include.
A) equalities within the same caste members

B) social mobility

(
(
(C) occupational link
(D) sub-divisions

(

E) hierarchical arrangement

Choose the correct answer from the options given below :

(1) (A), (B), (©), (D) only
(2)  (A) () (D), (E) only
(3)  (B), (©), (D), (E) only
(4)  (A), (B), (D), (E) only

Options:

54025064953. 1
54025064954. 2
54025064955. 3

54025064956. 4

Question Number : 159 Question Id : 54025016239 Question Type : MCQ Option Shuffling : No
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(1) = (A), (B), (O), (D)
(2) EE (A), (©), (D), (B)
(3) ad (B), (O), (D), (E)
(4) I (A), (B), (D), (E)
Options :

54025064953. 1
54025064954. 2
54025064955. 3
54025064956. 4
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Match the authors in List - I with their books in List - II.
List - I List - II
Author Book

(A) Bishop Joseph Butler ()  Sultana’s Dream

(B) M.G. Ranade () Stree Purush Tulana

(C) Tarabai Shinde () Analogy of Religion

(D) Begum Rokeya Sakhawat Hussain ~ (IV) Vedic Authorities for Widow Marriage

Choose the correct answer from the options given below :

(1) (A)-{ID, (BHIV), (C)-(L), (D}()
(2 (AHD), (BK(), (C-IV), (D)
(3 (AKD), (B)-{LL), (CHIV), (DA()
(4 (AHV), (BHI), (C-{1), (DM
Options :

54025064957. 1
54025064958. 2
54025064959. 3

54025064960. 4

Question Number : 160 Question Id : 54025016240 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
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Correct Marks : 5 Wrong Marks : 1
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(1) (AR, (BHIV), (©-W), (D)-
(2) (AR), B, (COHIV), (DK
(3) (M, (B){T), (C-(IV), (D)
(&) (AHIV), (BHID, (1), D)
Options:

54025064957. 1

54025064958. 2

54025064959. 3

54025064960. 4
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Explain the emergence of OBCs by arranging the statements in a correct sequence.

(A) In 1990, the OBC issue became a major one in National Politics because the Central
government decided to implement ten year old Mandal Commission Report,

(B) Due to powerful social movements in the southern states policies to address the problem of
the OBCs were in place long before they were discussed in Northern states.

(C) The 1st Backward Classes Commission was headed by Kaka Kalelkar, however report made
by his commission was sidelined.

(D) It was under Janata Party that the OBC issue returned to central level.

(E) Government under Nehru appointed a commission to look info measures for the welfare of
the OBCs.

Chooqe the correct answer from the options given below :
) (), (C), ), (D)
) (B) (E) (D)r () (A)
(

@) (&) 8) € ©)
(4 (E) (B) () (A). (D)

Options:
54025064961. 1
54025064962. 2

54025064963. 3

54025064964. 4

Question Number : 161 Question Id : 54025016241 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
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(1) () (C) (B}, D). (4)
2 (®) (). (0 € (4)
() (&), ), €, (), &
(4 () (8) (€, (&), (D
Options:
54025064961. 1
54025064962. 2
54025064963. 3
54025064964. 4
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The Dalit Panthers group emerged in :

(1) Northern India
(2) Eastern India
(3) Southern India
(4) Western India
Options :

54025064965. 1
54025064966. 2
54025064967. 3
54025064968. 4

Question Number : 162 Question Id : 54025016242 Question Type : MCQ Option Shuffling : No
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Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
Sferd Yord 9HE g9 gal ¢
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Options :

54025064965. 1
54025064966. 2
54025064967. 3
54025064968. 4
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Theintegration of tribals into the mainstream society created ditficulties, One of the reasons being :
(1) They refused to move out and accept new areas of dwelling,

(2) They were gatherers who practiced shifting cultivation and did not have the necessary skills
for other activities.
(3)  They could not be educated.
(4)  They continued to five the same way as before.
Options :
54025064969. 1
54025064970. 2
54025064971. 3

54025064972. 4
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Options:

54025064969. 1
54025064970. 2
54025064971. 3

54025064972. 4
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India has a long tradition of religious pluralism, and peaceful co-existence of inter-religious faiths.

What 1s this inter-mixing called ?
(1) socialism

2
(3
(4

| communalism
| secularism

| syncretism
Options :
54025064973. 1
54025064974. 2
54025064975. 3

54025064976. 4
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Options :

54025064973. 1
54025064974. 2
54025064975. 3

54025064976. 4
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Arrange the following statements in regard to the background the States Reorganisation
Commission (SRC).

(A) India witnessed vigorous movements that arose among Marathi and Kannada speaking
population,

(B) Martyrdom of Sriramulu provoked protests, led to the creation of the state of Andhra Pradesh
and SRC in 19%6.

(C) In1947, India along with its freedom was also divided.

(D) InOctober, a former Gandhian, Potti Sriramulu died seven weeks after beginning a fast unto
death.

E) Congress was hesitant to fulfill its promise in regards to lineuistic states as it had witnessed
| o P b ou
partition as a consequerce of intense attachment.

Choose the correct answer from the options given below
(1) Q) (4) () ®) (D)

(&) ()0, 0) &) ()
) (O ) (4) ©), 6)
4 (€ ()06 F
Options :
54025064977. 1
54025064978. 2
54025064979. 3

54025064980. 4
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Options:

54025064977. 1
54025064978. 2
54025064979. 3

54025064980. 4
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Which among the following does not pose challenge to diversity of India ?
(1) communalism

(2) regionalism

(3) casteism

(4) secularism
Options:

54025064981. 1
54025064982. 2
54025064983. 3

54025064984. 4
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Options :

54025064981. 1
54025064982. 2
54025064983. 3

54025064984. 4
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Most states in India are created on linguistic basis except Chattisgarh, Uttaranchal and Jharkhand.

On what basis are these states created ?
(1) Administrative

(2) Linguistic
(3)  Ethnicity

(4)  Special smtus
Options :
54025064985. 1
54025064986. 2
54025064987. 3

54025064988. 4

Question Number : 167 Question Id : 54025016247 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

MCQ

.
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(1) T
) o
() T
() T
Options:

54025064985. 1
54025064986. 2
54025064987. 3
54025064988. 4

Question Number : 168 Question Id : 54025016248 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

According to western context what does secularism actually denote ?
(1) separation of religious and political authority
(2) all religions are same and must be treated equally
(3) religious chauvinism
(4) keeping away the hostility between religions
Options :
54025064989. 1
54025064990. 2
54025064991. 3

54025064992. 4

.
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Question Number : 168 Question Id : 54025016248 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

ufv=t Hey & SR, uH R ard 9 a1 gefiid il 872
(1) e 3R TSifdes T 1 gYFen

(2) |t yH FHA ¢ IR 3h WY GHH R TR S =fee
(3) nfHe wfgarg

(4) 9Hl o == WAl <l T @

Options :

54025064989. 1
54025064990. 2
54025064991. 3

54025064992. 4

Question Number : 169 Question Id : 54025016249 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

.
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Arrange the following communities in descending order of their population as per Census 2011,

(A) Sikh
(B) Buddhist
(C) Jain

(D) Christian

Choose the correct answer from the options given below :

(1) (D) (4) 8 ©)
(2 ()() ):(D)
() ). (0
()

D
B) (D)r (A)
Options:
54025064993. 1
54025064994. 2
54025064995. 3

54025064996. 4

Question Number : 169 Question Id : 54025016249 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

MCQ
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(4) fog

(B) g

©)

D) %%

1ol o T fohedl o § W& I o 9 A
(1) (D), () () ©

2 (4), (8) () D)

(3) () (A) (), D)

(4) (B) (D), (A) (C)

Options:

54025064993. 1
54025064994. 2
54025064995. 3

54025064996. 4

Question Number : 170 Question Id : 54025016250 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

MCQ

.
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Match the concept in List - I with the explanation in List - I1.

List -1 List - II
Concept Explanation
(A) Community identity (I) ~Gandhian follower whose death led to creation of state of Andhra
Pradesh
(B) State () Indian constitution on minorities and cultural diversity

(C) PottiSriramulu ~ (III) Identity based on birth and belonging is ascriptive

(D) Article 9and 30 (IV) Anabstractentity consisting of a set of political - legal institution
controlling a geographical territory and people living in it

Choose the correct answer from the options given below :

(1) (AKD) (BHID), (CHIV), (DM

() (AW, B, (€ )(Hn (DJ (w)
() (AIV), (B1(m, (-

(4 (AR, BH1V), (- () (DHH)
Options :

54025064997. 1
54025064998. 2
54025064999. 3
54025065000. 4

Question Number : 170 Question Id : 54025016250 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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LETOR e
(A) ¥4 TR 0) T3 el for e 3 O A e T e A
(B) Te-T (1) o S % Wi fafaem T R 5o & s

Q) W Fow () 54 SR FT T s &
(D) #7080 4M30 (V) T e 461 AR I9H T el il ) FRF A o O

fruife T a4 S 91 O 9 3
19 R0 T Tl 6 Y S0 4 A
(1) (AKT), (BRI, (C-V), (D))
(2) (AHLL), (B0 (CHHIL, (DA(IV)
(8) (AMIV), (BHI, (CH1L), (DA
(4 (AM{I), (BHIV), (CH1), (DKL)
Options:

54025064997. 1
54025064998. 2
54025064999. 3
54025065000. 4

Question Number : 171 Question Id : 54025016251 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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The different ways in which British colonialism lives on in contemporary India are :
A) Learning classical Indian music and dance

B) Eating using fork and spoon

D) Online education

(
(
(C) Skirts and trousers as school uniform
(
(

E) Driving on the left side of the road

Choose the correct answer from the options given below :

(1) (B) ©) (5 oy

(2) (B), (D), (E) only
3) (B) (A), (D) only
(4) (A) (D) (C) only
Options:

54025065001. 1
54025065002. 2
54025065003. 3
54025065004. 4

Question Number : 171 Question Id : 54025016251 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

MCQ
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D) HierE faen
E) gh o a1 SR grEfem
9 fou U fasmedi | 9 Wet 3HX & 994 RN ;
(1) %ad (B), (O), (E)
(2) %9 (B), (D), (E)
(3) & (B), (A), (D)
(4) Fad (A), (D), ()

Options:

54025065001. 1
54025065002. 2
54025065003. 3

54025065004. 4

(
(
(C) TFd IR & ®9 § e 3R Jaeq
(
(

Question Number : 172 Question Id : 54025016252 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks :

Question Key Details :

1

Key

Value

Comprehension

MCQ
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Who argued that the nature of urban impact varies according to the kind of relation a village has

with a city or town ?
(1) K Marx

(2) M. Weber
(3) MSA. Rao
(4)  MN. Srinivas
Options:
54025065005. 1
54025065006. 2
54025065007. 3
54025065008. 4

Question Number : 172 Question Id : 54025016252 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

MCQ

for 3 7 oo T4 et o o & e 1 6 el 6 R 3 SR VR W 8 e o 2 7

RCEL
3) THUET W
Y T 4

Options :

(1)
(
(
’

54025065005. 1
54025065006. 2
54025065007. 3

54025065008. 4

.
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Question Number : 173 Question Id : 54025016253 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

MCQ

Who coined the term ‘westernisation” ?

(1) Ravi Varma
(2) DML.N. Srinivas
(3) Tiplut Nongbri
(4) B.R. Ambedkar
Options :

54025065009. 1
54025065010. 2
54025065011. 3

54025065012. 4

Question Number : 173 Question Id : 54025016253 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
“gfyeHieR’ veg fohEm e ?
(1) o ==

(2) TUHUA. e

(3) fewge et

(4) L3R, reEHT
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Options :

540250650009. 1
54025065010. 2
54025065011. 3
54025065012. 4

Question Number : 174 Question Id : 54025016254 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

n India, formation of caste associations and caste based political parties indicate :
1)  Communalisation of caste

)

3) Popularisation of caste
4)  Regionalisation of caste

Secularisation of caste

I
(
(
(
(

Options:

54025065013. 1
54025065014. 2
54025065015. 3

54025065016. 4

Question Number : 174 Question Id : 54025016254 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
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Comprehension

MCQ

YRA H ST G SR S senid Tsiiifaes Sl ol e fohaeht gas 8 7

(1) ST o1 reererd
(2) ST 1 gHFRGeR
(3) A &1 SRl
(4) ST 1 FreHTeR

Options :

54025065013. 1
54025065014. 2
54025065015. 3

54025065016. 4

Question Number : 175 Question Id : 54025016255 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

MCQ

.
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Panchayats in India have been given the power and authority to carryout functions of self
governance. Choose their functions from the following :

(4) To make amendments in the constitution,

(B) To promote schemes that will enhance social justice.

(C) To create plan for the entire district

(D) Tolevy, collect and appropriate taxes, duties and toll

(E) To prepare plans and schemes for economic development.

Choose the correct answer from the options given below

(1) (&) (), ) only

(2 ( )( ) (B) only
(3) () (D), (£} only
(4 (B) (C), (D) only
Options:

54025065017. 1
54025065018. 2
54025065019. 3

54025065020. 4

Question Number : 175 Question Id : 54025016255 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

.
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(A) e o 99 09 fe

(B) o % ) 0 ¢ § A |

(C) Fi el & fore e o

(D) 3R, 7 A 26 R 4R 99 A

(F) e e o fere Ao S ] ) R e

T fou o foeredl & B W 9 1 T

(1) % (4) 0) [
(2) # (), (D) ()
() B), (D), (B
(4) i (8) (C) (D
Options:
54025065017. 1
54025065018. 2
54025065019. 3

54025065020. 4

Question Number : 176 Question Id : 54025016256 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

MCQ

.
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The “Vision Mumba” document catered to the interest of one set of people. Whose interest did it

represent ?
(1) The urban poor and middle class

(2

|} The urban rich and middle class
(3)  The urban poor

(4) The Elite

Options:

54025065021. 1
54025065022. 2
54025065023. 3

54025065024. 4

Question Number : 176 Question Id : 54025016256 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

MCQ

N o fet o et e v ol " <, 7 ok g o fee o el ek 2

Wl T 4 qe A
TRL ST ST A

Options :

54025065021. 1
54025065022. 2
54025065023. 3

54025065024. 4

.
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Question Number : 177 Question Id : 54025016257 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

The social welfare responsibilities of Panchayats include which of the following ?

A) Recording statistics of birth and death
B) Making amendments to constitution

(
(
(C) Control of cattle compounds
(D) Framing rules for the state

(

E) Propagate family planning

Choose the correct answer from the options given below :

(1) (B) (4), (E) only

2 (A)(C) () only
(3) (B, (C), (D) only
() (C), (D), (E) only
Options :

54025065025. 1
54025065026. 2
54025065027. 3

54025065028. 4

Question Number : 177 Question Id : 54025016257 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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YRR o ISR hedT] STaaw] § FHfaied H § -9 I § 7
A) S R g & dAiwel w1 Afieg
B) Wfaur H S S

T fou u fosredi | 9 W@ I R 9 Hife
(1) % (B), (A), ()
(2) e (A), (©), ()
(3) 9 (B), (C), (D)
(4) % (Q), (D), ()
Options :

54025065025. 1
54025065026. 2
54025065027. 3

54025065028. 4

Question Number : 178 Question Id : 54025016258 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Why did land reforms take place in Independent India ?

(1) To inform the society members that colonisers have been replaced by Indian Government.

(2) Lack of agricultural policies existing during colonial era.

(3) To improve agricultural sector.

(4) To establish state control over agricultural sector gcollegeduni 2
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Options :

54025065029. 1
54025065030. 2
54025065031. 3
54025065032. 4

Question Number : 178 Question Id : 54025016258 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
A I W S e A g

(1) S % Tee o g e o foru o o e g 3 fravenfed 31 st fen 0 €1
(2)  SfrofFafies 1 o SR ) i A 1 v

(3) Ffn & H guR &

(4) T &6 T 1 A e e o feru

Options:

54025065029. 1
54025065030. 2
54025065031. 3

54025065032. 4

Question Number : 179 Question Id : 54025016259 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

.
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Key Value

Comprehension MCQ

Many factories employ ‘Badli’ workers. Who are these workers ?
(1) Permanent employees

(2) Seasonal employees
(3) Unskilled workers
(4) Substitute workers

Options :

54025065033. 1
54025065034. 2
54025065035. 3
54025065036. 4

Question Number : 179 Question Id : 54025016259 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
% el el HSTgll %l USTIR <l 8 1 3 Heigt i 872
(1) *rEl wHER
(2) HIEH FHAR
(3) 3P HHAN
(4) SRfcUsH HHARI
Options :

54025065033. 1
54025065034. 2

54025065035. 3

54025065036. 4 g collegedunia:



Question Number : 180 Question Id : 54025016260 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Impact of the abolition of Zamindari system has led to :

(1) increasing economic and political power of Zamindars

(2) wiped out landlordism

(3) end of sharecropping system

(4) removal of layer of intermediaries between cultivators and the state
Options :

54025065037. 1

54025065038. 2

54025065039. 3

54025065040. 4

Question Number : 180 Question Id : 54025016260 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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(1) e e 3T IR TsHifas vfs | gfs

(2)  STHIQRT 9T sl FHE HE

(3) EIZESRI YUl 1 3fd

(4) FuF 3R T F &= fS=Gfadi ot daan #i gem
Options :
54025065037. 1
54025065038. 2

54025065039. 3

54025065040. 4

Question Number : 181 Question Id : 54025016261 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Name the process by which the Government may sell its shares in public sector companies.
(1) Disinvestment

(2) Withdrawal

(3) Privatization

(4) Outsourcing

Options :

54025065041. 1

54025065042. 2

54025065043. 3

54025065044. 4

Question Number : 181 Question Id : 54025016261 Question Type : MCQ o;@fﬁ}kﬂﬁ?@%@?‘m



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

MCQ

T Y1 1 T e, T g R W 4 ) St ¥ o W o e 8

(1) fafem
(2) frerm
(3) fasim
(4) T

Options :

3
|

54025065041. 1
54025065042. 2
54025065043. 3

54025065044. 4

Question Number : 182 Question Id : 54025016262 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

MCQ
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Match the explanation in List - I with the concept in List - IL.

List - I List - II
Explanation Concept

(A) Opening up of a country’s ()  Transnational corporations
economy to world market

(B) Workforce involved in design and (I)  Electronic economy
development

(C)  Firms having more than one company (Ill) Liberalization
In many countries

(D) Able to make transactions without (IV) Knowledge economy
physical presence

Choose the correct answer from the options given below :

(1) (AMI, (B)-1), ©)-{1), (DHIV)
(2)  (AJ{ID), (B)-{L), (CHD, (DHLV)
(3)  (AMI, (B)-{IV), (©)-(I), O)-0
(&) (A, BH1V), (1), DHI)
Options:

54025065045. 1
54025065046. 2
54025065047. 3

54025065048. 4

Question Number : 182 Question Id : 54025016262 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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(B) fes 4R foer # Wivet Friae () 3o e
(C) % i H v § e sl areh el () e
(D) sifees et o form o-a7 e H 94 IEEREREE
A feu T o § § T S T
(1) (A)-(), (BH), (C-(D), (D)(IV)
(2)  (A)-(, (BHT), (CHID), (D )( V)
(3) (A, (BHIV), (C}I), (D)0
(4) (AR, (BHIV), (C )(I)r( 1)
Options :

54025065045. 1
54025065046. 2
54025065047. 3

54025065048. 4

Question Number : 183 Question Id : 54025016263 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

.
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“Mr. Charles Leadbeater coined the term ‘Thin Air’ business in his article published in the year
1999 What does this mean ?

(1) people in the business of air bottling plant

(2) people make money by producing something which cannot be touched, felt, weighed or
measured like consultants, lawyers,

(3) people who work in ailines
(4) people who work in factories.
Options :

54025065049. 1
54025065050. 2
54025065051. 3

54025065052. 4

Question Number : 183 Question Id : 54025016263 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

", 78 Tl et 1 Y 1999 H VeI A ol H o o e e T o' | e A Y

&

(1) aefef e o FHET | 7l

(2) A Tl <1 1 SR ek A 9 N T S, W e o o ek, e
I 76} 1 N €, IR T, e A

(3) & Ty 8 A

(4) 0 S

Options :

54025065049. 1

54025065050. 2 _
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54025065051. 3

54025065052. 4

Question Number : 184 Question Id : 54025016264 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Match the abbreviations in List - I with the names in List - II.

List - I List - II
Abbreviation Name
(A) ASEAN ()  South Asian Federation of Trade Association
(B) WTO () South Asian Regional Conference
(C) SAFTA () Association of South-east Asian Nations
(D) SARC (IV) World Trade Organisation

Choose the correct answer from the options given below :

(1) (A)-(I), (BHT), (CHI), (D)-1V)

(
(2)  (AHI), B)-(I), (1), (DHIV)
() (A)-(D), (BHIV), (C)-(), (D)1
(4)  (A)-(D, BHIV), (C)-0), (DHI)
Options:

54025065053. 1
54025065054. 2
54025065055. 3
54025065056. 4
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(1) (A}, (B}-D), (O-(I), (D)-(IV)
2) (A, B)-(I), 1), (D)-(IV)
(3) (A, B)-(IV), (C)-(I), (D))
(4)  (A)-(IID), (B)-(IV), (C)-(1), (D)-{T])
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54025065053. 1
54025065054. 2
54025065055. 3

54025065056. 4
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Arrange the following in ascending order of their foundation.

(A) The Madras Mail
(B) The Pioneer

(C) The Statesman
(D) The Times of India

Choose the correct answer from the options given below :

(1) (B), (©), D) &)

(2) (D), (B), (A), ()
(3) (A) (B), (C), (D)
(4) (©) (B), (A) (D)
Options:

54025065057. 1
54025065058. 2
54025065059. 3

54025065060. 4
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(A) fe 92 A

(B) fg warR

(C) fg wzgH

(D) fg w8 &% gfea
(1) (B), (©), (D), (A)
(2) (D), (B), (A), (©)
(3)  (A) (B), (O), (D)
(4) (Q), (B), (A), (D)
Options:

54025065057. 1
54025065058. 2
54025065059. 3
54025065060. 4
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Arrange in chronological order from oldest to newest.
(A) Bardoloi Satyagraha

(B) Bengal Revolt

(C) Tebhaga movement

(D) Deccan Riots

(E) Champaran Satyagraha

Choose the correct answer from the options given below :

(1) (D), (&), (B), (O), (E)

(2) (D), (B), (©), (E), (A)
(3) (D) (B), (A) ©), (E)
(4) (D) (B). (E), (A), (C)
Options:

54025065061. 1
54025065062. 2
54025065063. 3

54025065064. 4
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(A) RSl HARE

(B) @ fade

(C) UM iR

(D) SR S

(E) SR YR
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(1) (D) (A), (B), (©), (E)

(2) (D), (B), (©), (E). (A)

(3) (D), (B), (A), (©), (E)

(4) (D), (B), (E), (A), (O
Options :

54025065061. 1
54025065062. 2
54025065063. 3
54025065064. 4
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The charismatic leader who led a major uprising against the British in Jharkhand was :
(1) Raja Ram Mohan Roy

(2) Birsa Munda

(3) Mahatma Gandhi

(4) Babu Jagjeewan Ram
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54025065065. 1
54025065066. 2
54025065067. 3

54025065068. 4
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54025065065. 1
54025065066. 2
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One of the key issues that bind the tribal movements accross India :
(1) over-exploitation

(2) cutting of forests

(3) alienation from the forest lands

(4) ethnicity

Options :

54025065069. 1

54025065070. 2

54025065071. 3

54025065072. 4
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54025065069. 1
54025065070. 2
54025065071. 3

54025065072. 4
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What was the common demand among the jute workers in Kolkata and workers of the Buckingham
and Carnatic Mills in Chennai, and workers from Ahmedabad ?

(1)  Better working condition
0

(3) 50% increase of wages

(4) Improvement in work infrastructure

25% increase of wages

Options :

54025065073. 1
54025065074. 2
54025065075. 3

54025065076. 4
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54025065073. 1
54025065074. 2
54025065075. 3

54025065076. 4
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What is the central concern of new social movements ?
(1) quality of life issues like having a clean environment.
(2) changing distribution of power among people.
(3) role of political parties.
(4) addressing issues of class-based exploitation.
Options:
54025065077. 1
54025065078. 2
54025065079. 3
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Read the passage and answer the following questions given below :

The Meghalaya Succession Act (passed by anall-male Meghalaya legislative assembly) received
the President’s assent in 1986. The Succession Act applies specifically to the Khasi and Jaintia
tribes of Meghalaya and confers on “any Khasi and Jaintia of sound mind not being a minor, the
right to dispose of his self-acquired property by will. The practice of making out a will does not
exist in Khasi custom. Khasi custom prescribes the devolution of ancestral property in the female
line.

There is a feeling, specially among the educated Khasi, that their rules of kinship and
inheritance are biased in favour of women and are too restrictive. The Succession Act is therefore
seen as an attempt at removing such restrictions and at correcting the perceived female bias in the
Khasi tradition. To assess whether the popular perception of female bias in the Khasi tradition is
indeed valid, it is necessary to view the Khasi matrilineal system in the context of the prevalent
gender relations and definitions of gender roles.

Several scholars have highlighted the inherent contradictions in matrilineal systems. One
such contradiction arises from the separation of the line of descent and inheritance on the one
hand and the structure of authority and control on the other. The former, which links the mother
to the daughter, comes in conflict with the latter, which links the mother’s brother to the sister’s
son. (In other words, a woman inherits property from her mother and passes it on to her daughter,
while a man controls his sister’s property and passes on control to his sister’s son. Thus, inheritance
passes from mother to daughter whereas control passes from (maternal) uncle to nephew.

Khasi matriliny generates intense role conflict for men. They are torn between their
responsibilities to their natal house on the one hand, and to their wife and children on the other.
In a way, the strain generated by such role conflict affects Khasi women more intensely. A can
never be fully assured that her husband does not find his sister’s house a more congenial place
woman than her own. Similarly a sister will be apprehensive about her brother’s commitment to
her welfare because the wife with whom he lives can always pull him away from his responsibilities
to his natal house.

The women are more adversely affected than men by the role conflict generated in the Khasi
matrilineal system not only because men wield power and women are deprived of it, but also
because the system is more lenient to men when there is a transgression of rules. Women possess
only token authority in Khasi society; it is men who are the defacto power holders. The system is
indeed weighted in favour of male matri-kin rather that male patri-kin. (In other words, despite
matriliny, men are the power holders in Khasi society; the only difference is that a man’s relatives
on his mother’s side matter more than his relatives on his father’s side.)

In which year did Meghalaya succession Act received the President’s assent ?

(1) 1896
(2) 1986
(3) 1966
(4) 1867
Options :

54025065081. 1
54025065082. 2
54025065083. 3
54025065084. 4
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Read the passage and answer the following questions given below :

The Meghalaya Succession Act (passed by anall-male Meghalaya legislative assembly) received
the President’s assent in 1986. The Succession Act applies specifically to the Khasi and Jaintia
tribes of Meghalaya and confers on “any Khasi and Jaintia of sound mind not being a minor, the
right to dispose of his self-acquired property by will'. The practice of making out a will does not
exist in Khasi custom. Khasi custom prescribes the devolution of ancestral property in the female
line.

There is a feeling, specially among the educated Khasi, that their rules of kinship and
inheritance are biased in favour of women and are too restrictive. The Succession Act is therefore
seen as an attempt at removing such restrictions and at correcting the perceived female bias in the
Khasi tradition. To assess whether the popular perception of female bias in the Khasi tradition is
indeed valid, it is necessary to view the Khasi matrilineal system in the context of the prevalent
gender relations and definitions of gender roles.

Several scholars have highlighted the inherent contradictions in matrilineal systems. One
such contradiction arises from the separation of the line of descent and inheritance on the one
hand and the structure of authority and control on the other. The former, which links the mother
to the daughter, comes in conflict with the latter, which links the mother’s brother to the sister’s
son. (In other words, a woman inherits property from her mother and passes it on to her daughter,
while a man controls his sister’s property and passes on control to his sister’s son. Thus, inheritance
passes from mother to daughter whereas control passes from (maternal) uncle to nephew.

Khasi matriliny generates intense role conflict for men. They are torn between their
responsibilities to their natal house on the one hand, and to their wife and children on the other.
In a way, the strain generated by such role conflict affects Khasi women more intensely. A can
never be fully assured that her husband does not find his sister’s house a more congenial place
woman than her own. Similarly a sister will be apprehensive about her brother’s commitment to
her welfare because the wife with whom he lives can always pull him away from his responsibilities
to his natal house.

The women are more adversely affected than men by the role conflict generated in the Khasi
matrilineal system not only because men wield power and women are deprived of it, but also
because the system is more lenient to men when there is a transgression of rules. Women possess
only token authority in Khasi society; it is men who are the defacto power holders. The system is
indeed weighted in favour of male matri-kin rather that male patri-kin. (In other words, despite
matriliny, men are the power holders in Khasi society; the only difference is that a man’s relatives
on his mother’s side matter more than his relatives on his father’s side.)

Which of the following custom is practiced in Khasi society ?
(1) Making out a will

(2)  Brother controlling sister's property

(3) Property passing to maternal uncle
(4)

4)  Property passing to nephew

Options :

54025065085. 1
54025065086. 2
54025065087. 3
54025065088. 4
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Read the passage and answer the following questions given below :

The Meghalaya Succession Act (passed by anall-male Meghalaya legislative assembly) received
the President’s assent in 1986. The Succession Act applies specifically to the Khasi and Jaintia
tribes of Meghalaya and confers on “any Khasi and Jaintia of sound mind not being a minor, the
right to dispose of his self-acquired property by will. The practice of making out a will does not
exist in Khasi custom. Khasi custom prescribes the devolution of ancestral property in the female
line.

There is a feeling, specially among the educated Khasi, that their rules of kinship and
inheritance are biased in favour of women and are too restrictive. The Succession Act is therefore
seen as an attempt at removing such restrictions and at correcting the perceived female bias in the
Khasi tradition. To assess whether the popular perception of female bias in the Khasi tradition is
indeed valid, it is necessary to view the Khasi matrilineal system in the context of the prevalent
gender relations and definitions of gender roles.

Several scholars have highlighted the inherent contradictions in matrilineal systems. One
such contradiction arises from the separation of the line of descent and inheritance on the one
hand and the structure of authority and control on the other. The former, which links the mother
to the daughter, comes in conflict with the latter, which links the mother’s brother to the sister’s
son. (In other words, a woman inherits property from her mother and passes it on to her daughter,
while a man controls his sister’s property and passes on control to his sister’s son. Thus, inheritance
passes from mother to daughter whereas control passes from (maternal) uncle to nephew.

Khasi matriliny generates intense role conflict for men. They are torn between their
responsibilities to their natal house on the one hand, and to their wife and children on the other.
In a way, the strain generated by such role conflict affects Khasi women more intensely. A can
never be fully assured that her husband does not find his sister’s house a more congenial place
woman than her own. Similarly a sister will be apprehensive about her brother’s commitment to
her welfare because the wife with whom he lives can always pull him away from his responsibilities
to his natal house.

The women are more adversely affected than men by the role conflict generated in the Khasi
matrilineal system not only because men wield power and women are deprived of it, but also
because the system is more lenient to men when there is a transgression of rules. Women possess
only token authority in Khasi society; it is men who are the defacto power holders. The system is
indeed weighted in favour of male matri-kin rather that male patri-kin. (In other words, despite
matriliny, men are the power holders in Khasi society; the only difference is that a man’s relatives
on his mother’s side matter more than his relatives on his father’s side.)

Which form of family is reflected in Khasi society ?

(1) Political

(2) Matrilineal
(3) Patrilineal
(4) Matriarchal
Options :

54025065089. 1
54025065090. 2
54025065091. 3
54025065092. 4

L
gcollegedunlag
India’s largest Student Review Platform

~



Question Number : 193 Question Id : 54025016273 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp1

.
gcollegedunlas
India’s largest Student Review Platform




TEIYT Rt U 3R FrerfafEa we s E

Yoo SaafieER sifufem (e faummen, e weft gew T & 9, 5w wiE) 11986 §
et @ e et | sfufw fem §R w aw o S S w an g g o 59 aw
S 2R T A W g ¥ e § SR seuet T € 59 St ST e 1 S 3T e
YA ST 1 ATSERR ' | T S 1 3, B e € | e e Hi S o SR T SR
1 Tt 1 G fRT o 5 F 2

afer | fova: ve-fore anfes = U Witd & ¢ 37 Hei 3R SR & e, o @
e ¥ ¥ o T e o whfrd oft €1 o1 T affem wrd v H o afensd % ve E R g gemme
1 31 T 39 THHAT o GHTH F3 F1 TF T ¢ | 76 TG o e o o 3 waferg e @t wuw
v foredi o ufd verar o1 = s 3, wE1 & for e, 7 e 2 fop el migeifia seeen 1 srerifi foi-
el aie fem il o ofoTnad 3 el & @)

%% fagrRl 3 Hiqavi orawene # siafife vl w eam dfeq fen 1w T faam
TR i1 1@ AR SR Td e Sl e ) GO & Sere § 39 8§ | el Hed W af @R
31 &1 Sl € ot gE HeY % o WM | wiagfga 9 Seafa 2 @ veen He S A i WE & ae F A
A e & (g e H, T T T A ] SR ST H U € ol o o S a8, S i
T ST e kY ARIE W R T €, 3R Al e oo 95 & 9 %61 3 81 39 9% wid &
A SRR ot 7 § 521 1 S & W AR ®9 H 78 SAHT 7§ qS S 2 )

A T T 3 o T e g5 ) Fel 3k o 1 o e o o o R
1 i & ot ot I € 10 e d Yt F-55 50 SO 39 9 1 R T forl W aRd S
TSN &1 U S i gifan T8 @ e {6 Suh ufd R S SR w1 Fedm e @ @ € A
I T T | TR Y, 5 S foh v 9 st e % ufd e @ e s

T e e § e it 55 9 7e e, s o s e w9 g dd
¥, ok gwfere 7l i g sl & et € i ol 7ol dfen § W gufo of #ifs g 1o &
e g T 3TeR1 & TS <l © 1 TSR TS F < ¢ | T wue § e % 1 ks W afn
R € - 7wl STfershR TR o 19 H 8 ¢ 18], S S € o 7g e IR o W A0ER i N g
T4 & o Tog-TIeR i1 o0k | (G vrsa & HIgael o aersfe, 6 A w9 H iR & @ §; ik v
SI 8 o T 7o % fore 3ot o it o & fewdenll 1 39 fra i v & el @ <0 ve g
)

@ e o 5 TR % e @ v 22

54025065089. 1
54025065090. 2
54025065091. 3
54025065092. 4

L
gcollegedunlag
India’s largest Student Review Platform

~



Question Number : 194 Question Id : 54025016274 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp1

.
gcollegedunlas
India’s largest Student Review Platform




Read the passage and answer the following questions given below :

The Meghalaya Succession Act (passed by anall-male Meghalaya legislative assembly) received
the President’s assent in 1986. The Succession Act applies specifically to the Khasi and Jaintia
tribes of Meghalaya and confers on “any Khasi and Jaintia of sound mind not being a minor, the
right to dispose of his self-acquired property by will. The practice of making out a will does not
exist in Khasi custom. Khasi custom prescribes the devolution of ancestral property in the female
line,

There is a feeling, specially among the educated Khasi, that their rules of kinship and
inheritance are biased in favour of women and are too restrictive. The Succession Act is therefore
seen as an attempt at removing such restrictions and at correcting the perceived female bias in the
Khasi tradition. To assess whether the popular perception of female bias in the Khasi tradition is
indeed valid, it is necessary to view the Khasi matrilineal system in the context of the prevalent
gender relations and definitions of gender roles.

Several scholars have highlighted the inherent contradictions in matrilineal systems. One
such contradiction arises from the separation of the line of descent and inheritance on the one
hand and the structure of authority and control on the other, The former, which links the mother
to the daughter, comes in conflict with the latter, which links the mother’s brother to the sister’s
son. (In other words, a woman inherits property from her mother and passes it on to her daughter,
while a man controls his sister’s property and passes on control to his sister’s son. Thus, inheritance
passes from mother to daughter whereas control passes from (maternal) uncle to nephew.

Khasi matriliny generates intense role conflict for men. They are torn between their
responsibilities to their natal house on the one hand, and to their wife and children on the other.
In a way, the strain generated by such role conflict affects Khasi women more intensely. A can
never be fully assured that her husband does not find his sister’s house a more congenial place
woman than her own. Similarly a sister will be apprehensive about her brother’s commitment to
her welfare because the wife with whom he lives can always pull him away from his responsibilities
to his natal house.

The women are more adversely affected than men by the role conflict generated in the Khasi
matrilineal system not only because men wield power and women are deprived of it, but also
because the system is more lenient to men when there is a transgression of rules. Women possess
only token authority in Khasi society; it is men who are the defacto power holders. The system is
indeed weighted in favour of male matri-kin rather that male patri-kin. (In other words, despite
matriliny, men are the power holders in Khasi society; the only difference is that a man’s relatives
on his mother’s side matter more than his relatives on his father’s side.)

The Meghalaya Succession Act is an attempt at one of the following :
(1) Remove male bias

(2) Establish gender equality

(3) Remove female bias
(4)

4)  Give power to men
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Read the passage and answer the following questions given below :

The Meghalaya Succession Act (passed by anall-male Meghalaya legislative assembly) received
the President’s assent in 1986. The Succession Act applies specifically to the Khasi and Jaintia
tribes of Meghalaya and confers on “any Khasi and Jaintia of sound mind not being a minor, the
right to dispose of his self-acquired property by will. The practice of making out a will does not
exist in Khasi custom. Khasi custom prescribes the devolution of ancestral property in the female
line.

There is a feeling, specially among the educated Khasi, that their rules of kinship and
inheritance are biased in favour of women and are too restrictive. The Succession Act is therefore
seen as an attempt at removing such restrictions and at correcting the perceived female bias in the
Khasi tradition. To assess whether the popular perception of female bias in the Khasi tradition is
indeed valid, it is necessary to view the Khasi matrilineal system in the context of the prevalent
gender relations and definitions of gender roles.

Several scholars have highlighted the inherent contradictions in matrilineal systems. One
such contradiction arises from the separation of the line of descent and inheritance on the one
hand and the structure of authority and control on the other. The former, which links the mother
to the daughter, comes in conflict with the latter, which links the mother’s brother to the sister’s
son. (In other words, a woman inherits property from her mother and passes it on to her daughter,
while a man controls his sister’s property and passes on control to his sister’s son. Thus, inheritance
passes from mother to daughter whereas control passes from (maternal) uncle to nephew.

Khasi matriliny generates intense role conflict for men. They are torn between their
responsibilities to their natal house on the one hand, and to their wife and children on the other.
In a way, the strain generated by such role conflict affects Khasi women more intensely. A can
never be fully assured that her husband does not find his sister’s house a more congenial place
woman than her own. Similarly a sister will be apprehensive about her brother’s commitment to
her welfare because the wife with whom he lives can always pull him away from his responsibilities
to his natal house.

The women are more adversely affected than men by the role conflict generated in the Khasi
matrilineal system not only because men wield power and women are deprived of it, but also
because the system is more lenient to men when there is a transgression of rules. Women possess
only token authority in Khasi society; it is men who are the defacto power holders. The system is
indeed weighted in favour of male matri-kin rather that male patri-kin. (In other words, despite
matriliny, men are the power holders in Khasi society; the only difference is that a man’s relatives
on his mother’s side matter more than his relatives on his father’s side.)

Khasi fa_mi]y system generates role conflict for :
(1) men and women

(2) men

(3) women
(4) children
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Read the passage and answer the following questions given below :

These are indicators of the process of globalisation of agriculture, or the incorporation of agriculture
into the larger global market - a process that has had direct effects on farmers and rural society.
For mstance, in some regions such as Punjab and Karnataka, farmers enter info contracts with
multinational companies (such as Pepsi Co.) to grow certain crops (such as tomatoes and potatoes),
which the companies then buy from them for processing or export. In such ‘contract farming’
systems, the company identifies the crop to be grown, provides the seeds and other inputs, as well
as the know how and often also the working capital. In return, the farmer is assured of a market
because the company guarantees that it will purchase the produce at a predetermined fixed price
Contract farming is very common now in the production of specialised items such as cut flowers,
fruits such as grapes, figs and pomegranates, cotton, and oilseeds. While contract farming appears
to provide financial security to farmers, it can also lead to greater insecurity as farmers become
dependent on these companies for their livelthoods. Contract farming of export-oriented products
such as flowers and gherkins also means that agricultural land is diverted away from food grain
production. Contract farming has sociological significance in that it disengages many people from
the production process and makes their own indigenous knowledge of agriculture irrelevant. In
addition, contract farming caters primarily to the production of elite items, and because it usually
requires high doses of fertilisers and pesticides, it is often not ecologically sustainable.

Contract farming happens for :
(1) cash crops only

(2) food crops only

(3)  oilseeds and cotton

(4)  food processing industry
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Read the passage and answer the following questions given below :

These are indicators of the process of globalisation of agriculture, or the incorporation of agriculture
into the larger global market - a process that has had direct effects on farmers and rural society.
For mstance, in some regions such as Punjab and Karnataka, farmers enter into contracts with
multinational companies (such as Pepsi Co.) to grow certain crops (such as tomatoes and potatoes),
which the companies then buy from them for processing or export. In such ‘contract farming’
systems, the company identifies the crop to be grown, provides the seeds and other inputs, as well
as the know how and often also the working capital. In return, the farmer is assured of a market
because the company guarantees that it will purchase the produce at a predetermined fixed price.
Contract farming is very common now in the production of specialised items such as cut flowers,
fruits such as grapes, figs and pomegranates, cotton, and oilseeds. While contract farming appears
to provide financial security to farmers, it can also lead to greater insecurity as farmers become
dependent on these companies for their livelihoods. Contract farming of export-oriented products
such as flowers and gherkins also means that agricultural land is diverted away from food grain
production. Contract farming has sociological significance in that it disengages many people from
the production process and makes their own indigenous knowledge of agriculture irrelevant. In
addition, contract farmjng caters primarily to the production of elite items, and because it usually
requires high doses of fertilisers and pesticides, it is often ot ecologically sustainable.

The change in the nature of relationships between landlords and agricultural workers has been
described by the sociologist Jan Breman as

(1) Shift from patronage to exploitation
(2) Shift from ownership to tenancy

(3)  Withdrawal from subsistence farming
(4)  Withdrawal from agriculture
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Read the passage and answer the following questions given below :

These are indicators of the process of globalisation of agriculture, or the incorporation of agriculfure
into the larger global market - a process that has had direct effects on farmers and rural society.
For instance, in some regions such as Punjab and Karnataka, farmers enter into contracts with
multinational companies (such as Pepsi Co. to grow certain crops (such as tomatoes and potatoes),
which the companies then buy from them for processing or export. In such ‘contract farming’
systems, the company identifies the crop to be grown, provides the seeds and other inputs, as wel
as the know how and often also the working capital. In return, the farmer is assured of a market
because the company guarantees that it will purchase the produce at a predetermined fixed price
Contract farming is very common now in the production of specialised items such as cut flowers,
fruits such as grapes, figs and pomegranates, cotton, and oilseeds. While contract farming appears
to provide financial security to farmers, it can also lead to greater insecurity as farmers become
dependent on these companies for their livelihoods. Contract farming of export-oriented products
such as flowers and gherkins also means that agricultural land is diverted away from food grain
production. Contract farming has sociological significance in that it disengages many people from
the production process and makes their own indigenous knowledge of agriculture irrelevant. In
addition, contract farming caters primarily to the production of elite items, and because it usually
requires high doses of fertilisers and pesticides, it is often not ecologically sustainable.

Who decides the crop to be grown under contract farming ?
(1) Farmer
(2) Tenants
(3) Lebourer

(4] Company g collegedunias
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Read the passage and answer the following questions given below :

These are indicators of the process of globalisation of agriculture, or the incorporation of agriculture
into the larger global market - a process that has had direct effects on farmers and rural society.
For mstance, in some regions such as Punjab and Karnataka, farmers enter info contracts with
multinational companies (such as Pepsi Co.) to grow certain crops (such as tomatoes and potatoes),
which the companies then buy from them for processing or export. In such ‘contract farming’
systems, the company identifies the crop to be grown, provides the seeds and other inputs, as well
as the know how and often also the working capital. In return, the farmer is assured of a market

because the company guarantees that it will purchase the produce at a predetermined fixed price
Contract farming is very common now in the production of specialised items such as cut flowers,

fruits such as grapes, figs and pomegranates, cotton, and oilseeds. While contract farming appears
to provide financial security to farmers, it can also lead to greater insecurity as farmers become
dependent on these companies for their livelthoods. Contract farming of export-oriented products
such as flowers and gherkins also means that agricultural land is diverted away from food grain
production. Contract farming has sociological significance in that it disengages many people from
the production process and makes their own indigenous knowledge of agriculture irrelevant. In
addition, contract farming caters primarily to the production of elite items, and because it usually
requires high doses of fertilisers and pesticides, it is often not ecologically sustainable.

Qut of the following which is not a demerit of contract farming ?
(1) Provides financial security to the farmer
(2) Indigenous knowledge becomes irrelevant regarding agriculture
(3) Ecologically not sustainable
(4] Does not produce for the masses
Options:
54025065113. 1
54025065114, 2
54025065115. 3
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Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension Comp2
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Question Number : 200 Question Id : 54025016280 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp2

Read the passage and answer the following questions given below :

These are indicators of the process of globalisation of agriculture, or the incorporation of agriculfure
into the larger global market - a process that has had direct effects on farmers and rural society.
For mstance, in some regions such as Punjab and Karnataka, farmets enter into contracts with
multinational companies (such as Pepsi Co.) to grow certain crops (such as tomatoes and potatoes),
which the companies then buy from them for processing or export. In such ‘contract farming’
systems, the company identifies the crop to be grown, provides the seeds and other inputs, as well
as the know how and often also the working capital. In return, the farmer is assured of a market
because the company guarantees that it will purchase the produce at a predetermined fixed price
Contract farming is very common now in the production of specialised items such as cut flowers,
fruits such as grapes, figs and pomegranates, cotton, and oilseeds. While contract farming appears
to provide financial security to farmers, it can also lead to greater insecurity as farmers become
dependent on these companies for their livelihoods. Contract farming of export-oriented products
such as flowers and gherkins also means that agricultural land is diverted away from food grain
production. Contract farming has sociological significance in that it disengages many people from
the production process and makes their own indigenous knowledge of agriculture irrelevant. In
addition, contract farming caters primarily to the production of elite items, and because it usually
requires high doses of fertilisers and pesticides, it is often not ecologically sustainable.

The system described in the passage is possible due to which process 7
(1) Globalisation

(2) Contract Farming

(3) Transnational Corporation

(4) Glocalisation

Options :
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